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QUESTION 1

Which anon option provides every user with root access to the export? 

A. anon=65535 

B. anon=65534 

C. anon=0 

D. anon=1 

Correct Answer: C 

 

QUESTION 2

27. If a volume contains multiple RAID 4 groups, you could have two disks in a volume fail without data loss, as long as
they were not ___________. 

A. In the same spare pool 

B. In the same RAID group 

C. In the same file system 

D. Currently being accessed 

Correct Answer: B 

 

QUESTION 3

You use junctions to join volumes to what? 

A. UNIX clients 

B. A namespace 

C. A Storage Virtual Machine (SVM) 

D. CIFS clients 

Correct Answer: B 

 

QUESTION 4

How is a FlexClone volume different than a snapshot? 

A. A FlexClone volume is the same as a snapshot until you split the FlexClone to remove all restrictions on the parent. 
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B. A FlexClone volume is a copy of all data blocks in a volume while a snapshot only references data blocks. 

C. A Flexclone volume is a writeable copy of a patent volume while a snapshot is read-only. 

D. A FlexClone volume is a separate copy of all data blocks within a parent volume that lives outs.de of the volumes
while the snapshot lives within the volume. 

Correct Answer: B 

 

QUESTION 5

Which two commands on the storage system allow you to gather statistics about network interfaces, including basic
information about network connections? (Choose two.) 

A. sysstat 1 

B. netdiag -n 

C. netstat -i 

D. ifstat a 

Correct Answer: CD 
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